HNE 3G HERIRIESE 2 S48 5 THEE 5 5 (NG’ IR EHE
1. HENBTHEMEBORKT1IFMOE L&)
SEFE (K1) BITDFE L L
M %
M %
M %
EARDGE b5 P% 100%
M1 ERRIICIE. B A CODHEN IR DA CO AR (H AKE HERE S OISR 5 LAy B R4 ) % 30, M4y 3

FRIX R CTHREEMICE Y THIENNEL,
X2 HEEEMOR LEE AR U GEflid 2288 7T
2. i3 A W D5E b
KEFDIHAIZEBITS
FE 17 Ml ose B
( £ 1) (
=
U 37> H ORI RO TE I im %
7 OIS TS

Sor

7 OBADORIALGE FES | T O x O RIALGE FES%

Hor) A ( £ H4)-v

&

F

A DRI IS5 OGS 5

HIAE12 A o5 L& % AR 12> A o5 L& % A1 A O 5E L& %
( £ H4)--= ( g H4) A ( £ A1) H
M = H
4. T DI 27> A [ JIAZ 56 L s %
A4+ U= M
5. SOMMIIHRIG T D RTFRIH 272 A [ o5 b &S
F + = M
6. T 12 H M o3
(= — 7) =+ = X 100=__ %
7. Bl 3m A o
(= +F+ )= + 4+ D) 100 _ %
(= + 4 + %)
oM # A H
Bamk & W FE O
FRLEEHE O LBVFESHD EE A,
A AT
HHEFTA
REE4 (&)

R T



